
Time: 40 Minutes Paper G. Science 8th Total Marks: 25

2nd Month, 1st Week, 6th Day Syllabus: Revision Test Syllabus (Week-1)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. The examples of hereditary characteristics are: ññññggggzzzzOOOOSSSS::::]]]]ÅÅÅÅVVVVBBBB÷÷÷÷::::

(a) Skin and hair colour ¢Zzg!*ßV»g8- (b) Height and Intelligence ŠZzgf;-$

(c) Ear piercing »yß** (d) Both a & b ŠzâV b Zzg a

2. Any difference in the characteristics of the members of a species is called:

ZZZZqqqq----„„„„))))²²²²ÆÆÆÆMMMMiiiiÅÅÅÅSSSS::::]]]]~~~~0000****cccc****YYYYääääzzzzZZZZÑÑÑÑÃÃÃÃððððÌÌÌÌ����ÛÛÛÛttttBBBB@@@@****ìììì::::

(a) Variation zk,~Zc (b) Mutation ñŸ (c) Resemblence ˜t (d) Adaptation _“

3. The variations which arise due to changes in genes are called:

88882222....çççç EEEEGGGG
EEEEEEEE~~~~pppp====VVVVÅÅÅÅzzzzzzzzÐÐÐÐaaaaZZZZƒƒƒƒääääzzzzZZZZááááppppZZZZ]]]]BBBBDDDD÷÷÷÷::::

(a) Environmental variations âj1CpZ] (b) Somatic variations ÎzpZ]

(c) Gemetic variations
²-)45ë
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HpZ] (d) Genetic variations 74545ë EG

E
G
HpZ]

4. The primary source of genetic variation is: QQQQCCCCppppZZZZ]]]]»»»»''''''''ffffgggg====ììììXXXX

(a) Translation R,Z
$hÓ4j
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E (b) Translucation R,ZYm

(c) Transcription R,Z$h¾
æ

E

B (d) Mutation ñŸ

5. Genes are the sections of: 88882222....çççç EEEEGGGG
EEEEEEEE''''''''ÆÆÆÆ{{{{÷÷÷÷XXXX

(a) DNA e~Z+Z} (b) RNA WgZ+Z}

(c) Plastids öSi (d) Ribosomes gZÆÎ'×

6. The components of chromosomes are: ™™™™zzzzññññÎÎÎÎ''''××××ÆÆÆÆZZZZbbbbZZZZYYYY÷÷÷÷::::

(a) DNA and RNA e~Z+Z}ZzgWgZ+Z} (b) DNA and Lipid e~Z+Z}ZzgÅ5åF
H

(c) DNA and protein e~Z+Z}Zzg6,z” (d) RNA and protein WgZ+Z}Zzg6,z”

7. DNA molecule consists of _____ strants. eeee~~~~ZZZZ++++ZZZZ}}}}»»»»ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww''''7777hhhhiiii6666,,,,ŒŒŒŒƒƒƒƒ@@@@****ììììXXXX

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

8. The strands of DNA are held together by:

eeee~~~~ZZZZ++++ZZZZ}}}}ÆÆÆÆ7777hhhhiiii''''''''ÆÆÆÆffffgggg))))aaaa}}}}ƒƒƒƒDDDD÷÷÷÷XXXX

(a) Ionic bond MÇ7-!*&+ (b) Covalent bond Ãz&Ó43ï GG
EH!*&+

(c) Hydrogen bond ;àgzX!*&+ (d) Coordinate covalent bond ÃMgeÆÃz&Ò3ï G
EH!*&+

9. When a haploid (n) sperm cell fuses with haploid (n) egg cell then

produce:

ŸŸŸŸÆÆÆÆ‚‚‚‚BBBBMMMMììììÂÂÂÂ¯̄̄̄@@@@****ìììì:::: (n) 4444xxxx−−−−ZZZZqqqq----333344445555ÕÕÕÕääää
XXXX

GGGGFFFFàààà (n) ZZZZ####ZZZZqqqq----333344445555ÕÕÕÕääää
XXXX

GGGGFFFFàààà

(a) Diploid (2n) cell −(2n) eöà (b) Both parents ŠzâVcÛ

(c) Diploid (3n) cell −(3n) R,öà (d) Siblings
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10. ________is restored in zygote. ''''''''ÃÃÃÃiiiiZZZZ""""5555½½½½ðððð
JJJJ

GGGG

YYYY

^̂̂̂~~~~ŠŠŠŠzzzz!!!!****gggg{{{{ôôôôppppHHHHYYYY@@@@****ììììXXXX

(a) DNA e~Z+Z} (b) RNA MgZ+Z}

(c) Sperm 4x (d) Somatic cell Îz−

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) How do variations help organisms to live successfully?

ppppZZZZ]]]]YYYY0000++++ZZZZggggzzzzVVVVÃÃÃÃ¾¾¾¾§§§§bbbbZZZZhhhhiiii0000++++ÏÏÏÏÆÆÆÆaaaaææææŠŠŠŠ™™™™DDDD÷÷÷÷????

(ii) Define adaptation and also give example. ____““““ÅÅÅÅ°°°°pppp™™™™,,,,ZZZZzzzzggggZZZZkkkkÅÅÅÅVVVVwwwwÌÌÌÌŠŠŠŠ,,,,XXXX

(iii) Define hereditary material. zzzzggggZZZZ((((ââââŠŠŠŠ{{{{ÅÅÅÅ°°°°pppp™™™™,,,,XXXX

(iv) Writes the types of nucleotides of DNA molecule. eeee~~~~ZZZZ++++ZZZZ}}}}ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwwwÆÆÆÆEEEEèèèèNNNN****[[[[++++iiiiÅÅÅÅZZZZllllxxxxKKKKXXXX

(v) In which process the number of chromosomes is reduce to half?

¾¾¾¾¿¿¿¿~~~~™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅ®®®®ZZZZŠŠŠŠMMMMŠŠŠŠSSSSgggg{{{{YYYYCCCCìììì????

(ii) What is the number of chromosomes in a somatic cell of drosophilla?

eeeeggggzzzzÎÎÎÎ####ÆÆÆÆÎÎÎÎzzzz−−−−~~~~™™™™zzzzññññÎÎÎÎ''''××××ÅÅÅÅ®®®®ZZZZŠŠŠŠXXXXìììì????

Q.No.3. Write long answer.                         (3) ----����ZZZZ[[[[KKKKXXXX

(i) Differentiate between halploid (n) cell and diploid (2n) cell. 

−−−−ÆÆÆÆŠŠŠŠggggxxxxyyyy����ÛÛÛÛttttzzzzZZZZãããã™™™™,,,,XXXX (2n) −−−−ZZZZzzzzggggeeeeööööàààà (n) 333344445555ÕÕÕÕääää
XXXX

GGGGFFFFàààà
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